
 

 

 

 

 

 

 

 

 

 

Step 1: Bar modelling- draw the bars: 

3 pencils and 2 rubbers together cost £3.60.  

3 Pencils cost same as two rubbers. 

 

Step 2: Bar modelling- draw the bars: 

2 rubbers cost the same as 3 pencils.  

If 3 pencils cost £1.20 How much would be 2 pencils? 

How much would be 1 pencil? 

Step 3: 

Bar modelling-  

 

 

 

 

 

If B costs £2.40 what does A and C cost? 

 

 

 

A 

B 

C 

https://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=2ahUKEwi48dT57bbaAhXGRhQKHUWcAmYQjRx6BAgAEAU&url=https://www.barmodel.co.uk/bar-models-solve-ks2-word-problems/&psig=AOvVaw1pQC8WDl-P6g_gfAtZ3I07&ust=1523695431149052

